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College Algebra — Joysheet 1 Name: S@Vj OC&W

MAT 140, Fall 2015 — D. Ivansié Show all your work!

Simplify and write the answer so all exponents are positive:
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3. (4pts) Convert to scientific notation or a decimal number:
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Simplify and write in standard form:
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Use formulas to expand:
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Factor the following. Use either a known formula or a factoring method.
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12. (6pts) The population of Hong Kong was 7.071,576 according to 2011 census data.
If its land area is 1104 square kilometers, find the population density (people per square
kilometer) and write it in scientific notation, rounded to six decimal points.

[707[576 . 6 ‘#U‘S—/_ﬂ 3 Peple JARr St
= 6305,412042
104 Lais hofaits

3




